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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-7_0
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P3-7

BfiE) | EBAK G | ERE (EAR/H) | BERERE (B/R) | XS R

06:50 278 150.0 2.583 i FiHAe06:50 KEFEFE (RAEREE)
07:35 278 150.0 2.583 BE|  1F1T007:35 KEHIEF (RFAEREE)
08:55 278 150.0 2.583 1] 7iE@08:55 REFEF (KFEAERE)
09:50 278 150. 0 2.583 1] TiHH@09:50 REFEF (KRFAERE)
10:35 278 150.0 2.583 Uz FiEA@10:35 KRENFEF (GREAERE)
11:20 278 150.0 2.583 A FiEe11:20 REFEF (REAERSE)
12:00 278 150.0 2.583 ] TiEH@12:00 REFEF (KEAERSE)
12:40 278 150.0 2.583 1] TiH@12:40 REFEF CREAEZRSE)
13:20 278 150.0 2.583 A FiE@13:20 REFEF (KREERSE)
14:00 278 150.0 2.583 ] Fiffe14:00 REEEF (KREERSE)
14:45 278 150.0 2.583 A FifA@14:45 REAFEF CRAKZEES)
15:30 278 150.0 2.583 1] FiEA@15:30 KRENFEF (GREEREE)
16:25 278 150.0 2.583 ] TiE@16:25 REFEF (KHAERE)
23t 3614.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 6.0

#HEKRECE (1773.0 vs 3803.0) d 5




FRV (ml plant-1)

ET (ml/hr/plant)

P3-7_0, Day=68 (2025-06-05)
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P3-7

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

08:20 273 150.0 2.583 5| {Rig@08:20 Bz (KRFAMERSE)
08:55 273 150. 0 2.583 E  1BRi&e08:55 BE1 (RAERE)
09:50 273 150.0 2.583 5| 1RiR009:50 Bz (KRFEAEES)
10:35 273 150.0 2.583 =l {Ri%@10:35 B3 (RAERSE)
11:20 273 150. 0 2.583 E BRige11:20 Bz CGRAERESE)
11:55 273 150. 0 2.583 S {Ri%e11:55 Bz (GRAERSE)
12:35 273 150.0 2.583 = RRiB012:35 B (REAKEE)
13:25 273 150. 0 2.583 E BRige13:25 Bz (GRAERESE)
14:05 273 150. 0 2.583 E| {Rige14:05 B3h (RE{ERLEE)
14:40 273 150.0 2.583 =l {Rig014:40 B3 (RAERSE)
15:20 273 150. 0 2.583 F BRi&e15:20 Bz (GRAEREE)
16:05 273 150.0 2.583 5| {Ri%e16:05 Bz (FRAERSE)
17:00 273 150.0 2.583 =l RRiB0@17:00 Bz (REAEESE)
23t 3549.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 6.0

large discrepency for begining water status (47:284.0), set to 47 ml.
FEIKRECE (1780. 0 vs 3540.0) 535




P3-7_0, Day=67 (2025-06-04)
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44.00 ~
43.75 A
43. 50 ~

900 905 910

36.

36.

35.

41.

40.

40.

40.

40.

43.

43.

43.

42.

42.

42.

44.
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P3-7

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS ERE

06:55 300 150. 0 2.583 E 1BRi&e06:55 Fz (RAERE)
07:45 300 150. 0 2.583 E|  {Ri1ge07:45 Fzh (KRFE{EREE)
09:00 300 150.0 2.583 = {Ri%@09:00 Fz (KRAERSE)
10:00 300 150.0 2.583 =l RRiB@10:00 Fzh (RAKEE)
10:50 300 150. 0 2.583 El 1BRi&010:50 Fzh CGRAEREE)
11:35 300 150.0 2.583 =l {Rige11:35 Fz1 (REAERSE)
12:20 300 150.0 2.583 Sl {Rige12:20 Fz (RAERSE)
13:05 300 150. 0 2.583 E| {Rig013:05 Fzh (REERSE)
13:50 300 150.0 2.583 F BRi%e13:50 Fz1 GRAERESE)
14:35 300 150.0 2.583 S| {Rige14:35 F3 (KRAERSE)
15:25 300 150. 0 2.583 E BRige15:25 Fz1 CGRAERESE)
16:15 300 150.0 2.583 E BRige16:15 Fz1 (GREAERESE)
24t 3600.0 (12%) 1800. 0 32 KEC: 2080.0, PH: 6.0

RE X B TRECHUR B oK.

#[EKECE (1860.0 vs 3327.0) 35
RER B HEREC/PHIE Rk, AT RERNIHRELR SR




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=66 (2025-06-03)
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0 Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-7

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R

07:40 273 150. 0 2.583 E BRi&e07:40 Bzl (GRAERSE)
08:25 273 150.0 2.583 5| {Ri%e08:25 Bz (FAAMERSE)
09:30 273 150.0 2.583 = {RRi8009:30 B (RFAEEE)
10:20 273 150.0 2.583 =l RRiB010:20 Bz (REAEEE)
11:20 273 150. 0 2.583 =l RiB011:20 B3 (REAEESE)
12:20 273 150.0 2.583 =l {Rige12:20 B3 (RAERSE)
13:00 273 150.0 2.583 (Z=| {Ri%@13:00 Bz (RAERSE)
13:35 273 150.0 2.583 |Z=| {Ri&e13:35 Bz (REAEZERE)
14:15 273 150.0 2.583 (Z=| 1Ri&e14:15 Bzh (RAERSE)
14:55 273 150.0 2.583 (£ =| {Ri%e14:55 Bz (REAERSE)
15:45 273 150. 0 2.583 |Z=| Rige15:45 Bz (GRAEREE)
16:45 273 150.0 2.583 (Z=| 1Ri%e16:45 Bz (RAEHSE)
24t 3276.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

R GERRETC (600) 57EA (278. 0) 1N, Al REH T % AREERS %2 X ER
2RI\ L PRIERE324. 0 ml.
#[EKECE (1907.0 vs 3460.0) 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=65 (2025-06-02)

T e g g e S S B Sy

VI, VO, FRV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET 1931 L 2000
613 —~
100 1300 2671 1500 -
J0a L 1000 S
50 1590 1 =
- 500 -

20 Warning: lcol [FVI',| "FVO’'] missing 0
0 -0
(v —— ME P30.0
400
FRV maxM 97 5

200 A

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

]
Bylnit (@68 01:57: ET=1270 Fg=1500.0 Ro=211.0

200 A - 2000

100 A - 1000

cumET (ml/plant)

0 [ 1 2 | 3 [ a5 6] 789 JwoJit[12]@[14]15[16][17[18]19[20]21]2723
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23.5 -
25 23.50 1
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P3-7

BfiE) | GEBATK (7)) | ERE (BEH/f) | ERERE (B/R) | XS e

09:35 273 150. 0 2.583 |Z=&| 1BRi&e09:35 Bz (RAERE)
10:35 273 150.0 2.583 |Z=| {Ri&e10:35 Bz (REERSE)
11:35 273 150.0 2.583 FA| {Ri%@11:35 Bz (GRAERE)
12:35 273 150.0 2.583 FA| 1BRi%@12:35 Bzh (RAIERSE)
14:25 273 150.0 2.583 FA| {Ri%@14:25 Bzl (GGRAEEE)
2it]1365.0 (5%) 750.0 32 KEC: 2080.0, PH: 6.0

##[EKECE (2007.0 vs 3837.0)d5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=64 (2025-06-01)

LR S e et
VI, VB*2RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 1500
1200

100 A - 1000

706 704.630
50 - 40 - 500

FRV (ml d-1)

Warning: lcol [FVI',| "FVO’'] missing

200 4 == i — ME -$30
150
100

50 A

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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